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Choose the correct answer from the following: 1X20=20
1. The _ discipline mainly studies the idea of state and government.
a. Sociology b. History
c¢. Economics d. Political science
2. From which word the term "Politics" was derived?
a. Polis b. Political
c. All of the above d. None of the above

3. Who is known as the father of political science?

a. Aristotle b. Machiavelli
c. lHobbes d. Plato
C E _ ______ __isasocial science.
Political Science b. Natural science
c. All of the above d. None of the above
55 g i g means Ancient Greek City State.
Polis b. Ockos
c. All of the above d. None of the above
6. Aristotle said that Man is by naturea _ animal.
a. Cultural b. Political
¢. Economic d. Rational and logical

7. Who used the term "politics” for the first time?
a. llobbes b. Locke
¢. Bentham d. Aristotle

8. The state exercises its sovereign power through L
a. Population b. Government
c. 'lerritory d. None of the above

9. How many main elements are there in the idea of state?

a. 4 bib
(¢ di7
10 e alone’pases sovergigniys
a. State b. Government
c. Political parties d. Pressure groups

[1] USTM/COE/R-01



13:

12.

132

14.

16.

17.

18.

19.

20.

_means complete independence of the State from external
control.
a. [xternal sovereignty b. Internal sovereignty
¢. Sovereignly d. None of the above
Examine the statements (A and R) and choose the correct option.

Assertion (A)= State is important but it is not Essential in the modern times.
Reason (R)= State protects the people and tries to ensure conditions for their
happiness, prosperity and development

a. Both A and R are correct but R is not b. Both A and R are correct but R is the
the correct explanation of A correct explanation of A
c. Aiscorrect R is incorrect d. A isincorrect R is correct

What is the limit for the size of population essential for a State?
a. 5000 people b. 1 crore
¢. More than I crore d. No limit

Who was John Austin?
a. English Political Scientist b. American Political Scientist
¢. Russian Political Scientist d. None of the above

What are “Rights”?
a. Essential conditions of social life b. Common claims of people
c. All of the above d. None of the above

What are legal rights?

a. Rights that are Recognized and b. Rights that are Not equally available to
enforced by the state all citizens
c. Allof the above d. None of the above

Political rights are those rights by virtue of which citizens get a share in
the

a. Social process b. Cultural process
c. Political process d. Economic process
CPMis anexampleof __ party.

a. Rightist b. Centrist

c. Leftist d. None of the above

Which organ of the government implements laws?

a. Execulive b. Legislature

c. Judiciary d. State

INC is the example of . party.

a. Centrist b. Leftist

c. Rightist d. None of the above
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